Potencias de 10

(E)

1.3996 - 10°

9.3071 = 10!

9.8601 +10°

3.4346 +10?

2.2359 =103

7.7132 +10!

7.004 10!

5.9832 = 10?

8.6006 < 10°

4.8763 = 102

Calcule los siguientes cocientes.

4.3833 + 10°

8.4706 = 10!

8.2698 =+ 10°

7.7759 +10°

3.8954 = 10°

4.9675 + 10°

4.6565 +10°

6.1281 = 10!

6.255+ 10!

3.5454 +10!
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Potencias de 10 (E) Respuestas

1.3996 = 10°
0.0013996
9.3071 = 10!
0.93071
9.8601 + 10°
0.0098601
3.4346 + 107
0.034346
2.2359 +10°
0.0022359
7.7132 = 10!
0.77132
7.004 = 10!
0.7004
5.9832 = 10?
0.059832
8.6006 < 102
0.086006
4.8763 = 10?
0.048763

Calcule los siguientes cocientes.

4.3833 = 10°
0.0043833
8.4706 = 10!
0.84706
8.2698 + 10°
0.0082698
7.7759 = 10°
0.0077759
3.8954 103
0.0038954
4.9675 = 10°
0.0049675
4.6565 = 10°
0.0046565
6.1281 10!
0.61281
6.255 + 10!
0.6255
3.5454 10!
0.35454
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